Installation Manual
Parts li

M6
M4
M3
M2. 5
set screws
M6*6
M8*160
M6
M4
M3
M2.5
set screws
M6%6
M8*160
M6
M4
M3
M2.5
set screws
M6*6
M8%160

meM
0 g
S
—
—
—
=
=8
D)
2
l\
mEM
¢
(S
—
—
—
=
=5
@
e
\
EM
¢
(&)
—
—
—
=
=
D)
e
l\

Installation Manual
Parts li

M6
M4
M3
M2.5
set screws
M6*6
M8%160
M6
M4
M3
M2.5
set screws
M6*<6
M8%160
M6
M4
M3
M2.5
set screws
M6*6
M8%160

ITEM
¢
—
—
—
=
=
D)
=
l\
ITEM
¢
—
—
—
=
=8
G
=
"~
ITEM
¢
—
—
—
=
NN
@
=
"~

Installation Manual
Parts li

M6
M4
M2.5
M8*90
M6
M4
M2. 5
M8%90
M6
M4
M2.5
M8%90




Installation Manual

Workspace Solutions

Clamp Installation

Arm Installation

Arm Adjustment

Desk Clamp B S
Clamp range: 15mm-50mm
—
1
Thre-Desk
hole: Desk thickness:
H 228.5mm 10mm-50mm
®© .
o_®
=

|

Clamp range: 155mm-50mm

A4

s

4

I1

4
Desk thickness:

-]

228.5mm 10mm-50mm '
. j %i

III

Thre-Desk
hole: . Desk thickness:

-

@/E'
228.5mm = 10mm-50mm I
A -






